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01. The largest number which divides 70 and 125 leaving
remainder 5 and 8 respectively is -

(1) 13 (2) 65

(3) 875 (4) 1750

02. If n is a natural number, then 2 29 4n n  is alwayss
divisible by

(1) 5 (2) 13

(3) both 5 and 13 (4) None of these

03. A polynomial of degree n has at the most -

(1)  1n zeroes (2)  1n zeroes

(3) n zeroes (4)  2n zeroes

MATHEMATICS
og lcls cM+h la[;k tks 70 vkSj 125 dks foHkkftr
djus ij Øe'k% 5 o 8 'ks"kQy cpkrh gS&

¼1½ 13 ¼2½ 65

¼3½ 875 ¼4½ 1750

;fn n ,d izkdf̀rd la[;k gS] rc 2 29 4n n  foHkkftr
gksxk&

¼1½ 5 ls ¼2½ 13 ls

¼3½ 5 vkSj 13 nksuksa ls ¼4½ buesa ls dksbZ ugha

,d n ?kkr cgqin ds vf/kdre 'kwU;kad dh la[;k
gksxh&

(1)  1n   'kwU;kad (2)  1n  'kwU;kad

(3) n 'kwU;kad (4)  2n  'kwU;kad
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 04. In fig. ||PQ BC  if 
2

5

PQ

BC
  then 

AP

PB
 is -

P Q

CB

A

(1)
2

5
(2)

2

3

(3)
3

2
(4)

3

5

05. The zeroes of Quadratic polynomial
2 , 0x kx k k  

(1) both can not be positive

(2) both Positive

(3) always unequal

(4) always equal

06. Number of zeros in 5 3 7 23 2 5   7  is -

(1) 3 (2) 7

(3) 10 (4) 17

07. The value of 6 6 6 ...................    is

(1) 4 (2) 3

(3) 2 (4) 2.5

fn, x, fp= esa PQ BC  gS] ;fn 
2

5

PQ

BC
  rc

AP

PB
 gksxk &

P Q

CB

A

¼1½ 
2

5
¼2½ 

2

3

¼3½ 
3

2
¼4½ 

3

5

f}?kkr cgqin 2 , 0x kx k k    ds 'kwU;kad &

¼1½ nksuks /kukRed ugha gks ldrs

¼2½ nksuks /kukRed gksaxs

¼3½ ges'kk gksaxs

¼4½ ges'kk leku gksaxs

5 3 7 23 2 5   7   esa 'kwU;ksa dh la[;k gksxh&

¼1½ 3 ¼2½ 7

¼3½ 10 ¼4½ 17

6 6 6 ...................     dk eku gS&

¼1½ 4 ¼2½ 3

¼3½ 2 ¼4½ 2-5
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08. the roots of the equation

 2 2 0abx b ac x bc     are -

(1) ,
b c

a b
 (2) ,

b c

a a




(3) ,
b c

a a


(4) ,

b c

a a

09.
2 45 3 20

2 5


 on simplification gives -

(1) Rational number

(2) Irrational number

(3) rational number which is prime

(4) None of these

10. If 1x   is a common root of the equations
2 3 0ax ax    and 2 0x x b    then ab =

(1) 3 (2) 3.5

(3) 6 (4) -3

11. In fig DE BC  the value of x  =?

D E

CB

A

y

x

b

a

(1)
a b

x
ay


 (2)

ax
y

a b




(3)
ay

x
a b




(4) None of these

f}?kkr lehdj.k  2 2 0abx b ac x bc       ds ewy

gS &

¼1½ ,
b c

a b
 ¼2½ ,

b c

a a




¼3½ ,
b c

a a


¼4½ ,

b c

a a

2 45 3 20

2 5


 dk lehdj.k gksxk &

¼1½ ifjes; la[;k

¼2½ vifjes; la[;k

¼3½ ifjes; la[;k tks fd vHkkT; gS

¼4½ buesa ls dksbZ ugha

;fn lehdj.k 2 3 0ax ax    vkSj 2 0x x b  
dk mHk;fu"B ewy 1x   gS rc ab = ?

¼1½ 3 ¼2½ 3-5

¼3½ 6 ¼4½ -3

fp= esa] DE BC  rc x  dk eku crkvks&

D E

CB

A

y

x

b

a

¼1½ 
a b

x
ay


 ¼2½ 

ax
y

a b




¼3½ 
ay

x
a b




¼4½ buesa ls dksbZ ugaha
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12. If the equation

     2 2 2 2 22 0a b x ac bd x c d      has

equal roots then -
(1) ad cd (2) ad bc
(3) ab bc (4) ab cd

13. In the given figure, If AD is the bisector of A  then
AC is equal to -

A

CB D 10 cm

x cm

8 cm

4 cm

(1) 16 cm (2) 20 cm

(3) 12 cm (4) 18 cm

14.
494 1

999 99
495 5

   is equal to -

(1) 90900 (2) 90009
(3) 90090 (4) 99000

15. In ABC , D and E are the points on the sides AB and

AC respectively such that DE BC . If AD = 3cm, BD =
4 cm and BC = 14 cm then DE equals -

A

CB

D E

(1) 7 cm (2) 6 cm

(3) 4 cm (4) 3 cm

 lehdj.k      2 2 2 2 22 0a b x ac bd x c d     

ds ewy leku gS rc&

¼1½ ad cd ¼2½ ad bc

¼3½ ab bc ¼4½ ab cd

fp= esa] ;fn AD, dks.k A  dh lef}Hkktd js[kk gS rc
AC dk eku gksxk &

A

CB D 10 cm

x cm

8 cm

4 cm

¼1½ 16 lseh ¼2½ 20 lseh

¼3½ 12 lseh ¼4½ 18 lseh

494 1
999 99

495 5
   dk eku gksxk &

¼1½ 90900 ¼2½ 90009

¼3½ 90090 ¼4½ 99000

ABC ,  esa] D vkSj E Øe'k% Hkqtkvksa AB o AC fLFkr

fcUnq gSa rFkk DE BC - ;fn AD = 3 lseh] BD = 4 lseh
o BC = 14 lseh rc DE dk eku gS&

A

CB

D E

¼1½ 7 lseh ¼2½ 6 lseh

¼3½ 4 lseh ¼4½ 3 lseh
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16. 7 7 7 7 7....   is equal to -

(1) 4 (2) 5

(3) 6 (4) 7

17. In triangles ABC and PQR, if ABC PQR  , then

AB : AC is equal to -

(1) PA : PR (2) PQ : PR

(3) QR : QP (4) PR : QR

18. In the figure given below ABC is a triangle with AB
perpendicular to BC, further BD is perpendicular to
AC. If AD = 9 cm and DC = 4 cm. Then what is the length
of BD?

DC

B

A

(1)
13

36
 cm (2)

36

13
 cm

(3)
13

2
 cm (4) 6 cm

19. Simplify -

1 2 3 .... 78 79 78 .... 3 2 1         
(1) 78 (2) 6084

(3) 79 (4) 6241

20. The value of ' x ' in the following figure is -

CB 4 cm

E

6 cm

A

60º 60º

15
 c

m

x

D
(1) 4 cm (2) 5 cm

(3) 6 cm (4) 8 cm

7 7 7 7 7.... dk eku gksxk &

¼1½ 4 ¼2½ 5

¼3½ 6 ¼4½ 7

ABC  o PQR  esa] ;fn ABC PQR   Rkc

:AB AC  fuEu ls fdlds cjkcj gSa&

¼1½ PA : PR ¼2½ PQ : PR

¼3½ QR : QP ¼4½ PR : QR

ABC  Eks] Hkqtk AB BC  RkFkk Hkqtk BD AC  gSA
;fn AD = 9Lkseh o DC = 4Lkseh rc Hkqtk BD dh yEckbZ
D;k gksxhA

DC

B

A

¼1½ 
13

36
 lseh ¼2½ 

36

13
lseh

¼3½ 
13

2
lseh ¼4½ 6 lseh

ljyhdj.k -

1 2 3 .... 78 79 78 .... 3 2 1         
¼1½ 78 ¼2½ 6084

¼3½ 79 ¼4½ 6241

fp= esa ' x ' dk eku fuEu ls D;k gS\

CB 4 cm

E

6 cm

A

60º 60º

15
 c

m

x

D
¼1½ 4 lseh ¼2½ 5 lseh

¼3½ 6 lseh ¼4½ 8 lseh
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21. If x and y are rational numbers such that

2 3
3

2 3
x y


 


, find the value of x and y..

(1) x = 9, y = 4 (2) x = 9, y = 5

(3) x = 7, y = 4 (4) x = 4, y = 9

22. If ,   be the zeroes of the polynomial 22 5x x k 

such that 
2 2 21

4
      than k = ?

(1) 3 (2) -3

(3) -2 (4) 2

23. If ,   are the zeroes of the polynomial
2( ) ( 1)f x x p x c     then ( 1)( 1)    is equal

to -

(1) 1 + c (2) c - 1

(3) c (4) 1 - c

24. If m is any positive integer then the last two digits in

the expression    81 121 1
m m   are -

(1) 02 (2) 12
(3) 21 (4) 00

25. In the given figure, ABC  is a triangle. The bisectors

of Internal B  and external C , Intersect at D. If

BDC  = 48º , then What is the value of A

BB C

DA

X
X

Y
Y

(1) 48º (2) 96º

(3) 100º (4) 114º

;fn x  o y  ifjes; la[;k gSA rFkk 
2 3

3
2 3

x y


 


gks] rc x  o y  dk eku gksxk&
¼1½ x = 9, y = 4 ¼2½ x = 9, y = 5
¼3½ x = 7, y = 4 ¼4½ x = 4, y = 9

;fn  o  ] cgqin 22 5x x k    ds 'kwU;kad gS rFkk

2 2 21

4
      rc k = ?

¼1½ 3 ¼2½ 3
¼3½ 2 ¼4½ 2
;fn  o  ] cgqin 2( ) ( 1)f x x p x c      ds

' k w U; k ad g S ]  rF k k  2 2 21

4
      rc

( 1)( 1)    gksxk &
¼1½ 1 + c ¼2½ c - 1
¼3½ c ¼4½ 1 - c

;fn M dksbZ /kukŸed iw.kkZad gSA rc    81 121 1
m n 

esa vafre nks vad D;k gksxs\
¼1½ 02 ¼2½ 12
¼3½ 21 ¼4½ 00
fp= esa] ABC  ds vkarfjd dks.k B vkSj czkg~; dks.k C

lef}Hkktd fcUnq D ij izfrPNsn djrs gSA ;fn

48ºBDC   rc A  dk eku D;k gksxk &

BB C

DA

X
X

Y
Y

¼1½ 48º ¼2½ 96º

¼3½ 100º ¼4½ 114º
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26. In , 3 2( ).ABC C B A B        Find three

angles.

(1) 200, 400, 1200 (2) 600, 200, 1000

(3) 1200, 200, 400 (4) 100, 400, 1300

27. If ABC is right angled triangle at B and M, N are the
mid points of AB and BC, then 4(AN2 + CM2) is equal
to -

(1) 4 AC2 (2) 6 AC2

(3) 5 AC2 (4)
5

4
 AC2

28. iF 2 22 3 , b 2 3 5xa      , 22 3 7c     and LCM

 , ,a b c  = 3780, then x =

(1) 0 (2) 1

(3) 2 (4) 3

29. If p and q are Prime number then 2p  and 2q  are -

(1) Coprime (2) not co prime

(3) even (4) odd

30. The smallest irrational number by which 18  should
be multiplied  so as to get a rational number is -

(1) 18 (2) 2 2

(3) 2 (4) 2

31. Simplification of : - 7 2 12 8 2 15  

(1) 2 5 (2) 2 5

(3) 3 5 (4) 2 3

ABC  esa]  C 3 2B A B       rc rhuks

dks.kksa dk eku gksxk&

¼1½ 200, 400, 1200 ¼2½ 600, 200, 1000

¼3½ 1200, 200, 400 ¼4½ 100, 400, 1300

;fn ABC  fcUnq B ij ledks.k f=Hkqt gS rFkk M vkSj

N] Hkqtk AB vkSj BC ds e/; fcUnq gS rc  2 24 AN cm

dk eku&

¼1½ 4 AC2 ¼2½ 6 AC2

¼3½ 5 AC2 ¼4½ 
5

4
 AC2

;fn 2 22 3 , b 2 3 5,xa      22 3 7c     rc

 , ,a b c  dk LCM = 3780, Rkc x = ?

¼1½ 0 ¼2½ 1

¼3½ 2 ¼4½ 3

;fn p  vkSj q vHkkT; la[;k gks rc 2p  vkSj 2q  gksxsa

&

¼1½ lg vHkkT; ¼2½ lg vHkkT; ugha

¼3½ le ¼4½ fo"ke

og lcls NksVh vifjes; la[;k ftlls 18  dks xq.kk

fd;k tk, rkfd ,d ifjes; la[;k izkIr gks&

¼1½ 18 ¼2½ 2 2

¼3½ 2 ¼4½ 2

ljyhdj.k %& 7 2 12 8 2 15  

¼1½ 2 5 ¼2½ 2 5

¼3½ 3 5 ¼4½ 2 3
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32. If 2 1.4142  then 
2 1

2 1




 is equal to -

(1) 2.4142 (2) 0.4142
(3) 5.8282 (4) 0.1718

33. The 100th root of  1010
10  is -

(1) 10810 (2) 81010

(3)   1010

10 (4)   10
10

10

34. For the given graph of polynomial

  2f x ax bx c    which one is correct -

x’ x

x’

y,
2 4
b D
a a
  
  

(1) 0, 0 0a b and c  

(2) 0, 0 0a b and c  

(3) 0, 0 0a b and c  

(4) 0, 0 0a b and c  

35. If  and   are zeroes of polynomial

  2f x ax bx c    then 3 3

1 1

 
  is equal to -

(1) 
3

3

3ab b

a


(2) 

3

3

3abc b

c



(3) 
3

3

3abc b

a


(4) 

3

3

3abc b

c



;fn 2 1.4142  rc 
2 1

2 1




 dk eku gksxk %&

¼1½ 2.4142 ¼2½ 0.4142

¼3½ 5.8282 ¼4½ 0.1718

 1010
10  dk 100 ok¡ ewy &

¼1½ 10810 ¼2½ 81010

¼3½   1010

10 ¼4½   10
10

10

cgqin   2f x ax bx c    ds fn, xzkQ esa fuEu

fodYi esa dkSu lgh gS\

x’ x

x’

y,
2 4
b D
a a

  
  

¼1½ 0, 0 0a b and c  

¼2½ 0, 0 0a b and c  

¼3½ 0, 0 0a b and c  

¼4½ 0, 0 0a b and c  

;fn cgqin   2f x ax bx c    ds nks 'kwU;kad 

vkSj   gks rc 3 3

1 1

 
  dk eku &

¼1½ 
3

3

3ab b

a


¼2½ 

3

3

3abc b

c



¼3½ 
3

3

3abc b

a


¼4½ 

3

3

3abc b

c


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36. Which among the following statement(s) is (are) true?
Exposure of silver chloride to sunlight for a long
duration turns grey due to

(i) the formation of silver by decomposition of silver
chloride

(ii) sublimation of silver chloride

(iii) decomposition of chlorine gas from silver chloride

(iv) oxidation of silver chloride

(1) (i) only (2) (i) and (iii)

(3) (ii) and (iii) (4) (iv) only

37. MnO2 + 4HCl   MnCl2 + 2H2O + Cl2 Identify the
substance oxidized in the above equation.

(1) MnCl2 (2) HCl

(3) H2O (4) MnO2

38. When Ag is exposed to air it gets a black coating of

(1) AgNO3 (2) Ag2S

(3) Ag2O (4) Ag2CO3

39. A substance 'X' is used in white-washing and is
obtained by heating limestone in the absence of air.
Identify 'X'.

(1) CaOCl2 (2) Ca (OH)2

(3) CaO (4) CaCO3

40. Which of the following is an endothermic process?

(1) Dilution of sulphuric acid

(2) Sublimation of dry ice

(3) Condensation of water vapours

(4) Respiration in human beings

SCIENCE
fuEufyf[kr esa ls dkSu lk dFku lR; gS\ yacs le;
rd lw;Z ds çdk'k ds laidZ esa jgus ls flYoj DyksjkbM
dk jax fuEufyf[kr dkj.k ls Hkwjk gks tkrk gS &

(i) flYoj DyksjkbM ds vi?kVu ls flYoj dk fuekZ.k

(ii) flYoj DyksjkbM dk m/kZ~oikru

(iii) flYoj DyksjkbM ls Dyksjhu xSl dk vi?kVu

(iv) flYoj DyksjkbM dk v‚Dlhdj.k

¼1½ dsoy (i) ¼2½ (i) vkSj (iii)

¼3½ (ii) vkSj (iii) ¼4½ dsoy (iv)

MnO2 + 4HCl   MnCl2 + 2H2O + Cl2 mijksä lehdj.k
esa v‚Dlh—r inkFkZ dh igpku djsa&

¼1½ MnCl2 ¼2½ HCl

¼3½ 2H O ¼4½ 2MnO

tc Ag dks gok ds laidZ esa yk;k tkrk gS rks ml ij
dkyh ijr p<+ tkrh gS &

¼1½ AgNO3 dh ¼2½ Ag2S dh

¼3½ Ag2O dh ¼4½ Ag2CO3 dh

,d inkFkZ 'X' dk mi;ksx lQsnh esa fd;k tkrk gS vkSj
;g gok dh vuqifLFkfr esa pwuk iRFkj dks xeZ djds
çkIr fd;k tkrk gSA 'X' dks igpkusa &

¼1½ CaOCl2 ¼2½ Ca (OH)2

¼3½ CaO ¼4½ CaCO3

fuEufyf[kr esa ls dkSu lh ,d rki vo'ks"kh çfØ;k gS\

¼1½ lY¶;wfjd ,flM dk ruq gksuk

¼2½ 'kq"d cQZ dk m/kZ~oikru

¼3½ tyok"i dk la?kuu

¼4½ euq"; esa 'olu
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41. In the double displacement reaction
between aqueous potassium iodide and aqueous
lead nitrate, a yellow precipitate of lead iodide is
formed. While performing the activity if lead nitrate
is not available, which of the following can be used
in place of lead nitrate?

(1) Lead sulphate (insoluble) (2) Lead acetate

(3) Ammonium nitrate (4) Potassium sulphate

42. A substance added to prevent food from getting rancid
containing fats and oils is called -

(1) Oxidant (2) Reductant

(3) Coolant (4) Antioxidant

43. Electrolysis of water is a decomposition reaction. The
mole ratio of hydrogen and oxygen gases liberated
during electrolysis of water is -

(1) 1 : 1 (2) 2:1

(3) 4:1 (4) 1:2

44. Name the products formed when iron filings are
heated with dilute hydrochloric acid -

(1) Fe (III) chloride and water

(2) Fe (II) chloride and water

(3) Fe (II) chloride and hydrogen gas

(4) Fe (III) chloride and hydrogen gas

45. Which of the following statements about the
autotrophs is incorrect?

(1) They synthesise carbohydrates from carbon
dioxide and water in the presence of sunlight and
chlorophyll

(2) They store carbohydrates in the form of starch

(3) They convert carbon dioxide and water into
carbohydrates in the absence of sunlight

 (4) They constitute the first trophic level in food
chains

tyh; iksVsf'k;e vk;ksMkbM vkSj tyh; ysM ukbVªsV
ds chp f}foLFkkiu vfHkfØ;k esa] ysM vk;ksMkbM dk
,d ihyk vo{ksi curk gSA xfrfof/k djrs le; ;fn
ysM ukbVªsV miyC/k ugha gS] rks ysM ukbVªsV ds LFkku ij
fuEufyf[kr esa ls fdldk mi;ksx fd;k tk ldrk gS\
¼1½ ysM lYQsV ¼v?kqyu'khy½ ¼2½ ysM ,lhVsV
¼3½ veksfu;e ukbVªsV ¼4½ iksVsf'k;e lYQsV
olk vkSj rsy ;qä Hkkstu esa feyk, tkus okys inkFkZ dks
dgk tkrk gS %
¼1½ v‚DlhMsaV ¼2½ fod`rxa/kd
¼3½ 'khryd ¼4½ izfrvkWfDldkjd
ty dk fo|qr vi?kVu ,d vi?kVu vfHkfØ;k gSA
ty ds fo|qrh; vi?kVu ds nkSjku eqä gkbMªkstu vkSj
v‚Dlhtu xSlksa dk eksy vuqikr gS %
¼1½ 1 % 1 ¼2½ 2 % 1
¼3½ 4 % 1 ¼4½ 1 % 2
mu mRiknksa dk uke nsa tc yksgs ds Nhyu dks ruq
gkbMªksDyksfjd vEy ds lkFk xeZ fd;k tkrk gS &
¼1½ vk;ju (III) DyksjkbM vkSj ikuh
¼2½ vk;ju (II) DyksjkbM vkSj ikuh
¼3½ vk;ju (II) Dyksjhu vkSj gkbMªkstu xSl
¼4½ vk;ju (III) Dyksjhu vkSj gkbMªkstu xSl
fuEufyf[kr esa ls dkSulk rF; Loiksf"k;ksa ds lanHkZ esa
xyr gSA
¼1½ os lw;Z ds çdk'k vkSj DyksjksfQy dh mifLFkfr esa
dkcZu Mkbv‚DlkbM vkSj ikuh ls dkcksZgkbMªsV dks
la'ysf"kr djrs gSa
¼2½ os LVkpZ ds :i esa dkcksZgkbMªsV dk lap; djrs gSa
¼3½ os dkcZu Mkbv‚DlkbM vkSj ikuh dks lwjt dh jks'kuh
dh vuqifLFkfr esa dkcksZgkbMªsV esa ifjofrZr djrs gSa
¼4½ os [kk| J̀a[kykvksa esa igys iks"k.k Lrj dk xBu
djrs gSa
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46. In which of the following group of organisms, food
material is broken down outside the body and then
absorbed?

(1) Mushroom, Green plants, Amoeba

(2) Yeast, Mushroom, bread mould

(3) Paramecium, Amoeba, Cuscuta

(4) Cuscuta, Lice, Tapeworm

47. When air is blown from mouth into a test-tube
containing lime water, the lime water turned milky
due to the presence of -

(1) oxygen (2) carbon dioxide

(3) nitrogen (4) water vapour

48. Which of the following statement(s) is (are) correct?

(i) Pyruvate can be converted into ethanol and carbon
dioxide by yeast

(ii) Fermentation takes place in aerobic bacteria

(iii) Fermentation takes place in mitochondria

(iv) Fermentation is a form of anaerobic respiration

(1) (i) and (iii) (2) (ii) and (iv)

(3) (i) and (iv) (4) (ii) and (iii)

49. Which is the first enzyme to mix with food in the
digestive tract?

(1) Pepsin  (2) Cellulase

(3) Amylase (4) Trypsin

fuEufyf[kr esa ls thoksa ds fdl leqg esa Hkkstu dk
vi?kVu 'kjhj ds ckgj gksrk gS] rFkk fQj vo'kksf"kr
gksrk gSA

¼1½ e'k:e] gjs ikS/ksa] vehck

¼2½ [kehj] e'k:e] czsu eksYM

¼3½ iSjkehf'k;e] vehck] vejcsy

¼4½ vejcsy] tw¡] Qhrkd`fe

tc pwus ds ikuh ls Hkjh ij[kuyh esa eq¡g ls gok Mkyh
tkrh gS] rks pwus dk ikuh fdldh mifLFkfr ds dkj.k
nwf/k;k gks tkrk gS\

¼1½ vkWDlhtu ¼2½ dkcZu MkbZvkWDlkbM

¼3½ ukbVªkstu ¼4½+ ty ok"i

fuEufyf[kr dFkuksa esa ls dkSu lk lgh gS\

(i) [kehj }kjk ikb#osV dks bFksu‚y vkSj dkcZu
Mkbv‚DlkbM esa ifjofrZr fd;k tk ldrk gS

(ii) fd.ou ok;oh; thok.kqvksa esa gksrk gS

(iii) fd.ou ekbVksd‚fUMª;k esa gksrk gS

(iv) fd.ou vok;oh; 'olu dk ,d :i gS

¼1½ (i) vkSj (iii) ¼2½ (ii) vkSj (iv)

¼3½ (i) vkSj (iv) ¼4½ (ii) vkSj (iii)

ikpu ra= esa Hkkstu ds lkFk fefJr gksus okyk igyk
,atkbe dkSu lk gS\

¼1½ isfIlu ¼2½ lsY;qyst

¼3½ ,ekbyst ¼4½ fVªfIlu
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50. Choose the forms in which most plants absorb
nitrogen -

(i) Proteins

(ii) Nitrates and Nitrites

(iii) Urea

(iv) Atmospheric nitrogen

(1) (i) and (ii) (2) (ii) and (iii)

(3) (iii) and (iv) (4) (i) and (iv)

51. The filtration units of kidneys are called -

(1) ureter (2) urethra

(3) neurons (4) nephrons

52. Oxygen liberated during photosynthesis comes from-

(1) water (2) chlorophyll

(3) carbon dioxide (4) glucose

53. Which of the following statement(s) is (are) true
about respiration?

(i) During inhalation, ribs move inward and
diaphragm is raised

(ii) In the alveoli, exchange of gases takes place i.e.,
oxygen from alveolar air diffuses into blood and
carbon dioxide from blood into alveolar air

(iii) Haemoglobin has greater affinity for carbon
dioxide than oxygen

(iv) Alveoli increase surface area for exchange of
gases

(1) (i) and (iv) (2) (ii) and (iii)

(3) (i) and (iii) (4) (ii) and (iv)

os :i pqusa ftuesa vf/kdka'k ikS/ks ukbVªkstu vo'kksf"kr
djrs gSa &

(i)  çksVhu

(ii) ukbVªsV~l vkSj ukbVªkbV

(iii) ;wfj;k

(iv) ok;qeaMyh; ukbVªkstu

¼1½ (i) vkSj (ii) ¼2½ (ii) vkSj (iii)

¼3½ (iii) vkSj (iv) ¼4½ (i) vkSj (iv)

51- òDd dh fuLianu bdkb;k¡ dgykrh gSa &

¼1½ ew=okfguh ¼2½ ew=ekxZ

¼3½ raf=dk,a ¼4½ o`Ddk.kq

çdk'k la'ys"k.k ds nkSjku eqä v‚Dlhtu dgk¡ ls vkrh
gS\

¼1½ ikuh ¼2½ DyksjksfQy

¼3½ dkcZu Mkbv‚DlkbM ¼4½ Xywdkst

'olu ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku lR;
gS\

(i) lk¡l ysus ds nkSjku ilfy;k¡ vanj dh vksj c<+rh gSa
vkSj Mk;kÝke Åij mBrk gS

(ii) ok;qdks'k esa xSlksa dk vknku&çnku gksrk gS vFkkZr
ok;qdks'kh; ok;q ls v‚Dlhtu jä esa QSy tkrh gS vkSj
jä ls dkcZu Mkbv‚DlkbM ok;qdks'kh; ok;q esa QSy
tkrh gSA

(iii) gheksXyksfcu esa v‚Dlhtu dh rqyuk esa dkcZu
Mkbv‚DlkbM ds çfr vf/kd vkd"kZ.k gksrk gS

(iv) ok;qdks'k xSlksa ds vknku&çnku ds fy, lrg {ks=
dks c<+krh gS

¼1½ (i) vkSj (iv) ¼2½ (ii) vkSj (iii)

¼3½ (i) vkSj (iii) ¼4½ (ii) vkSj (iv)
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54. During deficiency of oxygen in tissues of human
beings, pyruvic acid is converted into lactic acid in
the -

(1) cytoplasm (2) chloroplast

(3) mitochondria (4) golgi body

55. The mode of nutrition in Fungi is -

(1) Autotrophic nutrition

(2) Holozoic nutrition

(3) Saprotrophic nutrition

(4) Parasitic nutrition

56. Roots of the plants absorb water from the soil through
the process of -

(1) diffusion (2) transpiration

(3) osmosis (4) None of these

57. Glycolysis process occurs in which part of the cell?

(1) Cytoplasm (2) Nucleus

(3) Mitochondria (4) Chloroplast

58. The unit of refractive index is -

(1)metre (2)degree

(3) dioptre (4) it has no unit

59. The ratio of the sine of the angle of incidence to the
sine of the angle of refraction is constant. It is given
by _________ .

(1) Faraday's law (2) Snell's law

(3) Newton's law (4) Murphy's law

60. The laws of reflection are valid for _______  .

(1) a convex mirror

(2) a plane mirror

(3) a concave mirror

(4) all mirrors irrespective of their shape

euq"; ds Årdksa esa v‚Dlhtu dh deh ds nkSjku
ikb#fod vEy ySfDVd vEy esa ifjofrZr gks tkrk gS

¼1½ dksf'kdknzO; esa ¼2½ gfjryod esa

¼3½ ekbVksd‚fUMª;k esa ¼4½ x‚Ythdk; esa

dod esa iks"k.k dh fof/k gS &

¼1½ Loiks"kh iks"k.k

¼2½ gksykstksbd iks"k.k

¼3½ e`riks"kh iks"k.k

¼4½ ijthoh iks"k.k

ikS/kksa dh tM+sa fuEu çfØ;k ds ek/;e ls feêh ls ikuh
vo'kksf"kr djrh gSa &

¼1½ folj.k ¼2½ ok"iksRltZu

¼3½ ijklj.k ¼4½ buesa ls dksbZ ugha

 Xykbdksykbfll çfØ;k dksf'kdk ds fdl Hkkx esa gksrh
gS\

¼1½ dksf'kdknzO; ¼2½ dsUnzd

¼3½ ekbVksd‚fUMª;k ¼4½ gfjryod

 viorZukad dh bdkbZ gS &

¼1½ehVj ¼2½fMxzh

¼3½ Mk;IVj ¼4½ buesa ls dksbZ ugha

vkiru dks.k dh T;k vkSj viorZu dks.k dh T;k dk
vuqikr fLFkj jgrk gSA ;g --------------- }kjk fn;k x;k gS

¼1½ QSjkMs dk fu;e ¼2½ Lusy dk fu;e

¼3½ U;wVu dk fu;e ¼4½ eQhZ dk fu;e

 ijkorZu ds fu;e ----------------- ds fy, ekU; gSaA

¼1½ ,d mÙky niZ.k

¼2½ ,d lery niZ.k

¼3½ ,d vory niZ.k

¼4½ lHkh niZ.k] pkgs mudk vkdkj dqN Hkh gks
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61. Concave lens produces -----.

(1) only virtual image

(2) only erect image

(3) only diminished image

(4) virtual, erect, and diminished image

62. Which position of the object will produce a magnified
virtual image, if a concave mirror of focal length 15
cm is being used?

(1) 10 cm (2) 20 cm

(3) 30 cm (4) 35 cm

63. A concave mirror produces a magnification of +4. The
object is placed -

(1) At the focus

(2) Between focus and centre of curvature

(3) Between focus and pole

(4) Beyond the centre of curvature

64. A ray of light is travelling in a direction perpendicular
to the boundary of a parallel glass slab. The ray of
light -

(1) Is refracted towards the normal

(2) Is refracted away from the normal

(3) Is reflected along the same path

(4) Does not get refracted

65. A lens of focal length 12 cm forms an erect image,
three times the size of the object. The distance
between the object and image is -

(1) 8 cm (2) 16 cm

(3) 24 cm (4) 36 cm

66. Focal length of plane mirror is -

(1) At infinity (2) Zero

(3) Negative (4) None of these

vory ySal ------------------ mRiUu djrk gSA
¼1½ dsoy vkHkklh izfrfcEc
¼2½ dsoy lh/kk izfrfcEc
¼3½ dsoy NksVk izfrfcEc
¼4½ vkHkklh] lh/kk vkSj NksVk çfrfcc

 ;fn 15 lseh Qksdy yackbZ ds vory niZ.k dk mi;ksx
fd;k tk jgk gS] rks oLrq dh fdl fLFkfr esa ,d
vkof/kZr vkHkklh Nfo cusxh\
¼1½ 10 lseh ¼2½ 20 lseh
¼3½ 30 lseh ¼4½ 35 lseh
,d vory niZ.k +4 dk vko/kZu mRiUu djrk gSA
oLrq j[kh xbZ gS &
¼1½ Qksdl ij
¼2½ Qksdl vkSj oØrk dsaæ ds chp
¼3½ Qksdl vkSj /kzqo ds chp
¼4½ oØrk dsaæ ls ijs

 çdk'k dh ,d fdj.k ,d lekukarj dkap ds LySc dh
lhek ds yacor fn'kk esa ;k=k dj jgh gSA çdk'k dh
fdj.k &
¼1½ vfHkyEc dh vksj viofrZr gksrh gS
¼2½ vfHkyEc ls nwj viofrZr gksrh gS
¼3½ mlh iFk ij çfrfcafcr gksrh gS
¼4½ viofrZr ugha gksrh gS
12 lseh Qksdl nwjh dk ,d ySal oLrq ds vkdkj dk
rhu xquk lh/kk çfrfcEc cukrk gSA oLrq vkSj Nfo ds
chp dh nwjh gS &
¼1½ 8 lseh ¼2½ 16 lseh
¼3½ 24 lseh ¼4½ 36 lseh

 lery niZ.k dh Qksdl nwjh gksrh gS
¼1½ vuar ij ¼2½ 'kwU; ij

¼3½ udkjkRed ¼4½ buesa ls dksbZ ugha
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67. A concave mirror gives real, inverted and same size
image if the object is placed -

(1) At F (2) At infinity

(3) At C (4) Beyond C

68. Which of the given is NOT paired correctly?

(1) Solar furnace-concave mirror

(2) Rear -view mirror-convex mirror

(3) Magnifying glass -convex lens

(4) None of these

69. In optics an object which has higher refractive index
is called -

(1) Optically rarer (2) Optically denser

(3) Optically weaker (4) Optically stronger

70. Refractive index:

(1) Depends on the wavelength of light used to
measure

(2) Is actual property of the substance

(3) Depends on the angle of incidence

(4) None of these

vory niZ.k okLrfod] mYVk vkSj leku vkdkj dk
çfrfcEc nsrk gSA ;fn oLrq j[kh tk, &

¼1½ F ij ¼2½ vuar ij

¼3½ C ij ¼4½ C ls ijs

fn, x, esa ls dkSu lk lgh <ax ls tksM+k ugha x;k gS\

¼1½ lkSj Hkêh&vory niZ.k

¼2½ i'pn`"; niZ.k&mÙky niZ.k

¼3½ vko/kZd ySal & mÙky ySal

¼4½ buesa ls dksbZ ugha

çdkf'kdh esa og oLrq ftldk viorZukad vf/kd gksrk
gS] dgykrh gS &

¼1½ çdkf'kd :i ls fojy ¼2½ çdkf'kd :i ls l?ku

¼3½ izdkf'kd ?kuRo ¼4½ viorZukad

viorZukad &

¼1½ ekius ds fy, ç;qä çdk'k dh rjax nS/kZ~; ij fuHkZj
djrk gS

¼2½ inkFkZ dh okLrfod fo'ks"krk gS

¼3½ vkiru dks.k ij fuHkZj djrk gS

¼4½ buesa ls dksbZ ugha



Class : X/F1 IIT-JEE | NEET | NTSE | OLYMPIADS | KVPYPCP,  S ikar 16

www.princeeduhub.com

Space for Rough Work

SOCIAL SCIENCE
71. The oceanic resources beyond ______________ of the

Exclusive Economic Zone belong to the open ocean,
and no individual country can utilize these without
the concurrence of international institutions.

(1) 200 nautical miles (2) 12 nautical miles

(3) 22.5 nautical miles (4) 100 nautical miles

72. In the island nation of Sri Lanka, the Sri Lankan Tamil
population is concentrated in  _______ and  _______
of the country.

(1) South and West (2) South and East

(3) North and Central (4) North and East

73. In June 1992, more than 100 heads of states met in
________ in Brazil for the first International Earth
Summit.

(1) Rio de Janeiro (2) Sao Paulo

(3) Brasilia (4) Curitiba

74. _______ made the shift from a unitary to a federal
system of government.

(1) Sri Lanka (2) Belgium

(3) Both (1) and (2) (4) None of the above

75. For whom Duke Metternich said that he was the most
dangerous enemy of their social order?

(1) Giuseppe Garibaldi (2) Carl Marx

(3) Giuseppe Mazzini (4) Maximillian Robespierre

76. Which of the following does not have a federal
political system?

(1) China (2) New Zealand

(3) Japan (4) All of the above

leqnzh lalk/ku-------------------- fof'k"V vkfFkZd {kS= ls vkxs
[kqys leqnz esa dksbZ ns'k varjkZ"Vªh; laLFkkuksa dh eatwjh ds
fcuk mi;ksx ugha dj ldrsA

(1) 200 leqnzh ehy (2) 12 leqnzh ehy

(3) 22-5 leqnzh ehy (4) 100 leqnzh ehy

}hih; ns'k Jhyadk esa Jhyadk okys rfey ns'k ds -------
vkSj ----- {kS= esa jgrs gSaA

(1) nf{k.k vkSj if'pe (2) nf{k.k vkSj iwoZ

(3) mÙkj vkSj e/; (4) mÙkj vkSj iwoZ

igys i`Foh lEesyu ds fy, twu 1992 esa 100 ls T;knk
ns'kksa ds izeq[k czkthy ds ------------- 'kgj esa bDdBs gq,A

(1) fj;ks Mh tusfj;ks (2) lkvks ikmyks

(3) czklhfy;k (4) dqjhrhck

------------- us ,dkRed iz.kkyh ls la?kh; iz.kkyh esa ifjorZu
fd;kA

(1) Jhyadk (2) csfYt;e

(3) (1) vkSj (2) nksuksa (4) dksbZ ugha

M~;wd eSÍfuZp us fdlds fy, dgk Fkk fd og mudh
lkekftd O;oLFkk dk lcls [krjukd nq'eu gSA

(1) X;wlsi xSjhckYMh

(2) dkyZ ekDlZ

(3) X;wlsi ekft+uh

(4) eSfDlfefy;u jkscsfLi,js

fuEufyf[kr esa ls fdl ns'k esa la?kh; jktuhfrd iz.kkyh
ugha gSa\

(1) phu (2) U;wthySaM

(3) tkiku (4) lHkh
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77. In which year did Napoleon Bonaparte declare himself
the king of France?

(1) 1802 (2) 1804

(3) 1806 (4) 1815

78. Who made the famous remark, 'When France
sneezes, the rest of Europe catches cold'?

(1) Metternich (2) Mazzini

(3) Garibaldi (4) Louis Philippe

79. At which session of the Congress was the demand of
"Purna Swaraj" put?

(1) Lahore (2) Madras

(3) Bombay (4) Calcutta

80. Who wrote the novel 'Anandamath'?

(1) M. Gandhi (2) Rabindra Nath Tagore

(3) B.C. Chattopdhyay (4) Abanindra Nath Tagore

usiksfy;u cksukikVZ us fdl o"kZ esa [kqn dks Ýkal dk
jktk ?kksf"kr fd;k\

(1) 1802 (2) 1804

(3) 1806 (4) 1815

*tc Ýkal Nhadrk gS] rks 'ks"k ;wjksi dks lnhZ yx tkrh
gS * ;g izfl) fVIi.kh fdlus dh FkhA

(1) esV~VfuZp (2) ekft+uh

(3) xSjhckYMh (4) yqbZ fQ+fyi

dkaxzsl ds fdl vf/kos'ku esa **iw.kZ Lojkt** dh ekax j[kh
xbZ\

(1) ykgkSj (2) enzkl

(3) cacbZ (4) dydÙkk

^vkuUneB* uke dk miU;kl fdl us fy[kk \

(1) egkRek xk¡/kh (2) jfcUnz ukFk VSxksj

(3) ch- lh- pV~Vksik/;k; (4) vcfUkUnz ukFk VSxkSj
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ENGLISH
81. By the end of this year he _________ a lot of money.

(1) shall save (2) will save

(3) will have saved (4) shall have saved

82. In his old age he often ........... of all the things he did
when he was young.

(1) thought (2) thinks

(3) was thinking (4) used to think

83. Last year, a massive landslide ...... in Uttarkhand.

(1) Occurs (2) Occurred

(3) Was occurring (4) has occured

84. Turmeric or yellow food colour ....... fine for this
recipe.

(1) Work (2) working

(3) are working (4) works

85. Slow and steady .... the race.

(1) Wins (2) have won

(3) win (4) were winning

86. she was in two minds, whether she ........... wear a
saree to the party or a western dress.

(1) should (2) dare

(3) may (4) must

87. ............... God bless you, my son!

(1) Will (2) Shall

(3) May (4) Can

88. Interviewer said to Radhika, "Do you get any negative
criticism for your work?"

Interviewer asked Radhika .................. any negative
criticism for her work.

(1) Whether you get (2) Whether she gets

(3) Whether she got (4) Whether Radhika gets

89. My mother always tells me that Honesty .................
the best policy.

(1) Was (2) is

(3) had been (4) is being

90. I ................. up all night yesterday to watch a James
Bond movie marathon.

(1) was staying (2) stayed

(3) have stayed (4) had stayed
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MAT
91. If DEER = 12215 and HIGH = 5645, how will you code

HEEL?

(1) 2328 (2) 3449

(3) 4337 (4) 5229

92. Arrange these letters of each group to make
meaningful word and then find the odd one out.

(1) VEENS (2) VIDEID

(3) ORFU (4) GHIET

93. Find the next term of the given number series 24, 340
2194, 6856, ...........

(1) 23892 (2) 24386

(3) 18926 (4) 22445

94. Find the analogous pair missing code

DCAB : ZYWX : :  GHEF : ?

(1) DEBC (2) UVTS

(3) VUST (4) WXUV

95. Vivek and Ashok start from a fixed point. Vivek moves
3 km north and turns right and then covers 4km.  Ashok
moves 5km west and turns right and walks  3 km, now
how far are they a part?

(1) 10 km (2) 9 km

(3) 8 km (4) 6 km

;fn DEER = 12215 vkSj HIGH = 5645 fy[kk tk;s rc
HEEL dk dksM D;k gksxk\

¼1½ 2328 ¼2½ 34498

¼3½ 4337 ¼4½ 5229

izR;sd lewg ds v{kjksa dks O;ofLFkr djds lkFkZd 'kCn
cukb, vkSj fo"ke v{kj Kkr dhft,A

¼1½ VEENS ¼2½ VIDEID

¼3½ ORFU ¼4½ GHIET

93. nh x, Ük̀a[kyk dk vxyk in gksxk &

2194, 6856, ...........

¼1½ 23892 ¼2½ 24386

¼3½ 18926 ¼4½ 22445

94. fn;s x;s lkn`';rk tksM+s dk dksM D;k gksxk&

DCAB : ZYWX : :  GHEF : ?

¼1½ DEBC ¼2½ UVTS

¼3½ VUST ¼4½ WXUV

95. foosd vkSj v'kksd ,d fuf'pr fcUnq ls pyrk 'kq:
djrs gS A foosd 3 fdeh- mÙkj dh vksj pyrk gS vksj
nkbZ vksj eqMdj 4 fdeh- dh nwjh r; djrk gSA rFkk
v'kksd 5 fdeh- if'pe dh vksj pyrk gS vksj nkbZ vksj
eqMdj 3 fdeh- dh nwjh r; djrk gSA rc nksuksa ,d&
nwljs ls fdruh nwjh ij gSA

¼1½ 10 fdeh- ¼2½ 9 fdeh-

¼3½ 8 fdeh- ¼4½ 6 fdeh-
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Space for Rough Work

96. Which of the following scts is best represented in the
given diagram?

(1) Animals, Insects, Cockroaches
(2) Males, Females and herma phrodites
(3) States, Districts, Union Territories
(4) Country, States, Districts

97. Four form of a dice are shown below in this dice which
digit will be on the surface opposite to the digit 4?

(1) 6 (2) 3
(3) 1 (4) 5

98. Two years age a mother was 4 times as old as her son,
six years from now her age will become more than
double her son's age by 10years. What is the present
ratio of their ages?
(1) 2 : 1 (2) 38 : 11
(3) 19 : 7 (4) 3 : 1

99. The Population of a city doubles every 7 years If in
2009 population is 12483, by which year population in
ceases by 49932?
(1) 2016 (2) 2030
(3) 2023 (4) 2037

100. Choose the next term for the given number series.
10, 100, 200, 310?
(1) 400 (2) 410
(3) 420 (4) 430

96. fuEufyf[kr esa ls dkSu lk lewg fn, x, vkjs[k esa
lcls vPNs <ax ls n'kkZ;k x;k gSA

¼1½ tkuoj] dhMs+] dkWdjksPk
¼2½ iq:"k] efgyk] gekZ ÝksfMVhl
¼3½ izns'k] ftyk] la?k'kkflr izns'k
¼4½ ns'k] izns'k] ftyk
fdlh ,d ikls dh pkj fLFkfr n'kkZ;h x;h gS] vad 4
ds foijhr lrg ij dkSu lk vad gksxkA

¼1½ 6 ¼2½ 3
¼3½ 1 ¼4½ 5
2 o"kZ igys] ekrk dh vk;q iq= dh vk;q dh 4 xq.kk gS
rFkk 6 o"kZ ckn] ekrk dh vk;q iq= dh vk;q ds nks xq.kk
ls 10 o"kZ vf/kd gS orZeku esa nksuksa dh vk;q dk vuqikr
D;k gS\
¼1½ 2 % 1 ¼2½ 38 % 11
¼3½ 19 % 7 ¼4½ 3 % 1
;fn fdlh 'kgj dh tula[;k 7 o"kZ esa nksxquh gksrh gSA
;fn l= 2009 esa tula[;k 12483 gS rc fdl o"kZ esa
ml 'kgj dh tula[;k c<+dj 49932 gks tk;sxh\
¼1½ 2016 ¼2½ 2030
¼3½ 2023 ¼4½ 2037
fn;s x;s Ük̀a[kyk dk vxyk in D;k gksxk\
10, 100, 200, 310?
¼1½ 400 ¼2½ 410
¼3½ 420 ¼4½ 430


